Mot 112 Midterm [, ze08-2009, 5pring

{10+10 pts.}1. Determine whether

a) the improper integral j - converges or diverges.
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b) the sequence { 20! } converges or diverges.
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. . L= 1 . . . .
(20 pts.)2. Find the sum of the series Z by interpreting as a telescoping series .
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(10+10 pts.}3. a) Does the series ZL‘ converge?
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b) Suppose that Z a_converges and that limn * an[ =0, Does Z a, converge
n=i noe n=l

absolutely?Explain your answer clearly.
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{10+10 pts.)4. Determine whether the following series converges or diverges.
Explain your answer clearly.
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(20 pts.)5. Find the radius and interval of convergence for the series
3 13.5....(2n~1
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Hint: ' <a < 1
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